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Q5. 

 

 

A.  B.  

C.  D.  

 

Q6. __________ is the synonym of "CONCURRENCE". 
 

A. Shortage B. Occurence 

C. Agreement D. Incidence 

 

Q7. __________ is the antonym of "EXTERIOR". 
 

A. Front B. Inferior 

C. Surface D. Interior 

 

Q8. Identify the meaning of the idiom. 
 
"Let the cat out of the bag" 

 

A. Reveal information that was hidden earlier. B. Clean up a dirty place. 

C. Empty out all the wealth one has. D. Provide as much help as possible. 

 

Q9. The sentence given below may contain one or more mistakes. Identify the correct sentence. 
 
"I asked her for chocolates, but she didn't have none." 

 

A. I asked her for chocolates, but she didn't had 

any. 

B. I asked for chocolates, but she didn't have 

none. 

C. I asked her for chocolates, but she have none. D. I asked her for chocolates, but she didn't have 

any. 
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Q10. Complete the sentence by choosing the correct form of the verb given in brackets. 
 
I have been _______ (try) to bake a perfect cake since morning. 

 

A. tries B. try 

C. trying D. tried 

 

Q11. Constitution of India was drafted by a committee headed by ___________. 
 

A. Soli Sorabjee B. Jawharlal Nehru 

C. B.R. Ambedkar D. Subhash C. Kashyap 

Q11. .?0, �O  9�=?/?0 �K ___________ �ी 
o/�,? ??लI �� 9=?=, �?0? ,P/?0 =�/? �/? -?। 
 

A. @KलI @K1?-�I B. �=?A1ल?ल (OAz 

C. -I. �1. 
म⹍-O!�1 D. @I.?? @I. ��0+ 

 

Q12. The National Institutional Ranking Framework (NIRF) rankings have been released by the 
_______. The rankings list the best institutions and universities of India. 

 

A. Ministry of Science and Technology B. Ministry of Education 

C. Ministry of Human Resource Development D. Ministry of Statistics and Programme 

Implementation 

Q12. 0?�रI/ 9�}-?�, 0ै䠂=�� � ्䵛O ??�क  (NIRF), ?े䜂 0ै䠂=�� � ___________ �?0? �?0I �ी �?,I :P। 0ै䠂=�� � ?े䜂 .?0, �O  9?क्䵦O्䵗 9�}-?0K �0 
=?्䵫=?o?ल/K �K 9K�I-p =�/? �?,? :P। 

 

A. ==_?( �1 �Lद♍0K�?�I /�्䵔?ल0 B. श?�? /�्䵔?ल0 

C. /?(= @�@?'( ==�?@ /�्䵔?ल0 D. @?�_/0�I ==.?? �1 �?0/्䵅/ �?0?/m=0( /�्䵔?ल0 

 

Q13. Which one of these Indian states does NOT form a border with Bhutan? 
 

A. West Bengal B. Uttarakhand 

C. Assam D. Arunachal Pradesh 
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Q13. =0म⹍0=ल=?, .?0,I/ 0?जᱍ/K ?े䜂 9O �L0 9? 0?जᱍ/, .K�?0 �ी 9I?? 0:ी䀂 -0?,? :P? 
 

A. +_�?/ -�??ल B. �्䵈1?��! 

C. 
@/ D. 
y#??ल �&O? 

 

Q14. How many Rajya Sabha members can the President of India nominate? 
 

A. 6 B. 2 

C. 12 D. 10 

Q14. .?0, �O  0?�र+=, =�,0O 0?जᱍ/9.? 9.}/K �K ?0K0I, �0 9�,O :ै䠂? 
 

A. 6 B. 2 

C. 12 D. 10 

 

Q15. Who was the first Indian woman to win an Olympic medal? 
 

A. Mary Kom B. Kunjarani Devi 

C. Kulsoom Abdullah D. Karnam Malleshwari 

Q15. �ल�=+� +.� �I,0O ??लI +:लI .?0,I/ ?=:ल? �L0 -I? 
 

A. /P1I �I/ B. �I� �1?(I &O=I 

C. �I ल@ू/ 
m&Iल㉍ल? D. �#// /ल㉍लO�=1I 
 

Q16. After independence, Haryana became part of the Indian Union as India's _____ state. 
 

A. 18th B. 16th 

C. 17th D. 15th 

Q16. ��?.I �O  -?., :र0/?+? .?0, �O  _____ 0?जᱍ/ �O  z+ ?े䜂 .?0,I/ 9�  �? =:}9? -0 �/?। 
 

A. 18=े䜂 B. 16=े䜂 

C. 17=े䜂 D. 15=े䜂 
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Q17. In which year the president rule was imposed last time in Haryana? 
 

A. 1969 B. 1991 

C. 1967 D. 1977 

Q17. :र0/?+? ?े䜂 
�=,? -?0 0?�र+=, ??90 =�9 ?}क ल�?/? �/? -?? 
 

A. 1969 B. 1991 

C. 1967 D. 1977 

 

Q18. Who was the chairman of commission, which was formed to set-up the boundaries of 
Haryana? 

 

A. Justice J.C. Shah B. Sardar Hukham Singh 

C. Justice Bhagwati D. Justice Venugopal 

Q18. :र0/?+? �ी 9I??� � �ी }-?+0? �O  =ल� �=?, �/K� �? 
o/� �L0 -?? 
 

A. m0?0/}ू$ / �O. @I. ??A B. @1&?1 AI�/ श@�A 

C. m0?0/}ू$ / .?=$I D. m0?0/}ू$ / =O#I?K+?ल 

 

Q19. At the Common Wealth Games of 2018, Vinesh Phogat of Haryana won Gold Medal in 
which sports? 

 

A. Wrestling B. Boxing 

C. Weight-lifting D. Power-lifting 

Q19. 2018 �O  �Q?0 ?Oल㉍- �Oम⹍9 ?े䜂, :र0/?+? �O  =?0O? ,K�� 0O =�9 ?Oल ?े䜂 }?+क +.� �I,?? 
 

A. �I �$I B. /I]�O -?जI 

C. .?1K्䵈Kल( D. +?=1 शल_M��? 

 

Q20. The World Herbal Forest is situated in ________, Haryana, over an area of about 53,000 
acres. 

 

A. Aravalli Hills B. Sohna Hills 

C. Dhosi Hills D. Morni Hills 
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Q20. =?्䵫 �}/I/ ?0, �K ल�.� 53,000 ��= �O} ?े䜂 ,P ल? :ु� :P, :र0/?+? �ी ______ ?े䜂 =}-, :P। 
 

A. 
1?=लI 9Aल㉍@ B. @KA(? 9Aल㉍@ 

C. "K@I 9Aल㉍@ D. /K1(I 9Aल㉍@ 

 

Q21. Which of the following is NOT an aim of Police Mitra Kaksh set up by the Haryana 
Government? 

 

A. Facilitating the people in lodging complaints B. Creating better coordination between the police 

and public 

C. Reducing the number of criminal cases D. Giving an opportunity for the first-time 

offenders to change 

Q21. =0म⹍0=ल=?, ?े䜂 9O �L0 9?, :र0/?+? 90�?0 �?0? }-?=+, +J=ल9 =?} �� �? �oO�/ 0:ी䀂 :P? 
 

A. लK?ो䬂 �I श?�?0$ &�/ �1?(O �I @I=='? �K @I?/ -(?(? B. +Iशल@ �1 �($? �O  -I? -OA$1 @/m=0 }%?=+$ �1(? 

C. �+1?�'� /?/लो䬂 �I @�/0? �K �/ �1(? D. +AलI -?1 
+1?�'0ो䬂 �K -&ल(O �? 
=@1 &O(? 
 

Q22. As on 14-November-2019, who is the Agriculture and Farmer Welfare Minister in the 
Haryana cabinet? 

 

A. Shri Ram Bilas Sharma B. Shri Jai Parkash Dalal 

C. Shri Narbir Singh D. Shri Krishan Lal Panwar 

Q22. 14-0?�-0 -2019 �K, :र0/?+? ?�=}?�)ल ?े䜂 �L =} �0 =�9?0 �ल㉍/?+ ?�}I �L0 :ै䠂? 
 

A. ्䵦I 1?/ --ल?@ ?/?/ B. ्䵦I �0 ��?? &ल?ल 

C. ्䵦I (1-I1 श@�A D. ्䵦I }्䵅?( ल?ल +=?1 
 

Q23. Which of the following is the main objective of HSGDA? 
 

A. To provide clean sanitation in villages of 

Haryana 

B. To provide clean drinking water to villages of 

Haryana 

C. To develop smart villages in Haryana D. To develop affordable housing for villagers with 

the participation of panchayats in Haryana 
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Q23. =0म⹍0=ल=?, ?े䜂 9O �L0 9? HSGDA �? ?J_/ �oO�/ :P? 
 

A. A910?#? �O  ??�=ो䬂 /े䜂 @,?� }0=}%? �&?( �1(? B. A910?#? �O  ???=ो䬂 �K }=चᩍ� +O0�ल �+लm' �1?(? 

C. A910?#? /े䜂 }/?�/ ???= ==�श@$ �1(? D. A910?#? /े䜂, +�??0$ो䬂 �I .??I&?1I �O  @?% ्䵇?/I#ो䬂 �O  शल� 

}�,?0$I �=?@ ==�श@$ �1(? 
 

Q24. Savita Punia, the Arjuna Award winner in 2018, who hails from Sirsa, Haryana is 
associated with ________. 

 

A. Cricket B. Squash 

C. Table Tennis D. Hockey 

Q24. 9=?,? +J=0/?, 2018 �ी 
�Jक0 
??)क =?�O,?, �K =� =909?, :र0/?+? �ी 0:0O ??लI :P, _________ 9O �J)I :ै䠂। 
 

A. }्䵅�O � B. }]=?? 

C. �O-ल �O}(@ D. AI�I 
 

Q25. Chander Shekhar Gurera is a ___________. 
 

A. Folk singer B. Poet 

C. Athlete D. Cartoonist 

Q25. �o9 ?O?0 �J0O0? �� ___________ :ै䠂। 
 

A. लK� ??0� B. �== 

C. �%लI� D. �?�ू/}(}� 
 

Q26. Who among the following was known as the 'Kalidas of Haryana'? 
 

A. Deep Chand Bahman B. Dhanpat Singh 

C. Pt. Mange Ram D. Baje Bhagat 

Q26. =0म⹍0=ल=?, ?े䜂 9O =�9O ':र0/?+? �? �?=ल.?9' �O  0?? 9O �?0? �?,? :P? 
 

A. &I+ ?�& -A/( B. '(+$ श@�A 

C. +�)!$ /?�?O 1?/ D. -?�O .?$ 
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Q27. Surendra Sharma has contributed to Haryanvi _______. 
 

A. folk songs B. bhajans 

C. pravachans D. comic poetry 

Q27. 9J0े䜂9 ???क 0O :र0/?+?I _______ ?े䜂 /K�.?0 =./? :P। 
 

A. लK� ?I$ B. .�( 

C. �=?( D. A?}0 �==$? 
 

Q28. Ghulam Farid Sabri was a major _________ singer. 
 

A. Bhajan B. Qawwali 

C. Sufi Songs D. Ghazal 

Q28. �Jल?? ,0I. 9?-0I �� �?J? _________ �?/� -O। 
 

A. .�( B. �}=?लI 

C. @,ूI ?I$ D. ग᜼जल 

 

Q29. ______ district of Haryana is India's leading mushroom producer. 
 

A. Sirsa B. Ambala 

C. Bhiwani D. Sonipat 

Q29. :र0/?+? �? ______ =�ल? .?0, �? 
्䵇+I ??z? �त⑍+?.� :P। 
 

A. श@1@? B. 
म⹍-?ल? 

C. श.=?(I D. @K(I+$ 

 

Q30. In Haryana, Sahibi, Markanda, Tangri and Krishnawati are names of? 
 

A. Saints B. Mountains 

C. Rivers D. Writers 
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Q30. :र0/?+? ?े䜂 9?=:-I, ??0�� )?, ,�्䵇I �0 �L �+??,I =�9�O  0?? :ै䠂? 
 

A. @?'ू @�$ B. +A?)ो䬂 

C. (9&0ो䬂 D. लO��ो䬂 �O  
 

Q31. Where is Motilal Nehru Sports School situated in Haryana? 
 

A. Chandigarh B. Ambala 

C. Karnal D. Sonipat 

Q31. :र0/?+? ?े䜂 ?K,Iल?ल 0O:z }+K�ट क9 }�K ल �:?? =}-, :P? 
 

A. ?�!I?? B. 
म⹍-?ल? 

C. �1(?ल D. @K(I+$ 

 

Q32. Which district of Haryana does not touch border of any other state? 
 

A. Hisar B. Rewari 

C. Rohtak D. Karnal 

Q32. :र0/?+? �? �L0 9? =�ल? =�9I 
o/ 0?जᱍ/ �ी 9I?? �K 0:ी䀂 �K ,? :P? 
 

A. 9A@?1 B. 1O=?)I 

C. 1KA$� D. �1(?ल 

 

Q33. Which amongst the following is built in Badsha village of Jhajjar district in Haryana? 
 

A. National Medical Institute B. National Institute of Medicines 

C. National Heart Institute D. National Cancer Institute 

Q33. :र0/?+? �O  �जᱍ�0 =�लO �O  -?.??: �?�? ?े䜂 =0म⹍0=ल=?, ?े䜂 9O =�9�? =0??क+ =�/? �/? :P? 
 

A. 1?�रI0 �?}�त⑍@? @�}%?( B. 1?�रI0 �?�' @�}%?( 

C. 1?�रI0 }&0 @�}%?( D. 1?�रI0 �ै䠂 @1 @�}%?( 
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Q34. According to 2011 census, _______% of Haryana's population lives in cities. 
 

A. 34 B. 40 

C. 42 D. 32 

Q34. 2011 �ी �0�+0? �O  
0J9?0, :र0/?+? �ी _______% �-?.I ?:0K ?े䜂 0:,I :P। 
 

A. 34 B. 40 

C. 42 D. 32 

 

Q35. A Municipal corporation is set up in a city with a population of not less than_________. 
 

A. 5 lakhs B. 10 lakhs 

C. 3 lakhs D. 8 lakhs 

Q35. �� 0�0 =0�? �� �9O ?:0 ?े䜂 }-?=+, =�/? �?,? :P, =�9�ी �-?.I _________ 9O �? 0:ी䀂 :P। 
 

A. 5 ल?� B. 10 ल?� 

C. 3 ल?� D. 8 ल?� 

 

Q36. __________ is also known as VDU. 
 

A. Computer Monitor B. Floppy disk 

C. Wireless Mouse D. ROM 

Q36. __________ �K VDU �O  z+ ?े䜂 .I �?0? �?,? :P। 
 

A. �� o0�ू1 /I(I�1 B. MलI+I )!}� 

C. =?01लO@ /?�@ D. 1K/ (ROM) 

 

Q37. The Kalesar forest has which of the following trees? 
 

A. Peepal B. Neem 

C. Eucalyptus D. Sal 
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Q37. �ल90 ?0 ?े䜂 =0म⹍0=ल=?, ?े䜂 9O �L0-9? +O= :P? 
 

A. +I+ल B. (I/ 

C. 0I�शलo�@ D. @?ल 

 

Q38. Which city is known as "Paris of Haryana"? 
 

A. Rohtak B. Gurgaon 

C. Karnal D. Hisar 

Q38. =�9 ?:0 �K ":र0/?+? �? +Oर09" �:? �?,? :P? 
 

A. 1KA$� B. ?I)??�= 

C. �1(?ल D. 9A@?1 
 

Q39. 1 GB = _______. 
 

A. 1 billion bytes B. 1017 bytes 

C. 1000 TB D. 1,000,000 bytes 

Q39. 1 GB (�I�? -?��) =__________. 
 

A. 1 --शल0( -?�टὍ@ B. 1017 -?�टὍ@ 

C. 1000 TB D. 1,000,000 -?�टὍ@ 

 

Q40. Pick the odd one out: 
Earthworm, Snail, Snake, Frog 

 

A. Earthworm B. Snail 

C. Frog D. Snake 

Q40. 
9��, �? �/0 �0े䜂: 
�े䜂 �J�,  K ?, 9?�+, ?े䜂*� 

 

A. �े䜂 ?I� B. �ो䬂�? 

C. /O"� D. @?�+ 
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Q41. Find the analogy. 
EDC : JIH :: ONM : ? 

 

A. ABC B. HIJ 

C. TSR D. XYZ 

Q41. 9??0,? *K�*े䜂। 
EDC : JIH :: ONM : ? 

 

A. ABC B. HIJ 

C. TSR D. XYZ 

 

Q42. Find the missing number. 
3, 9, 15, 21, ? 

 

A. 22 B. 25 

C. 27 D. 29 

Q42. लJ्䵎 9�_/? _?, �0े䜂। 
3, 9, 15, 21, ? 

 

A. 22 B. 25 

C. 27 D. 29 

 

Q43. If "TRUE" is coded as "VTWG". How will "FALSE" be coded? 
 

A. RTVXZ B. HCNUG 

C. LSGVU D. HBKSE 

Q43. /=. �� �K) .?}? ?े䜂 TRUE �K VTWG =ल?? �?,? :P ,K FALSE �K ]/? =ल?? �?��?? 
 

A. RTVXZ B. HCNUG 

C. LSGVU D. HBKSE 

 

Q44. Find the value of X in the following equation: 
5X + 7 = - 5 - X 

 

A. 1 B. -1 

C. -2 D. 2 
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Q44. =0म⹍0=ल=?, 9?I�0+ ?े䜂 X �? ??0 =0�?ले䜂: 
5X + 7 = - 5 - X 

 

A. 1 B. -1 

C. -2 D. 2 

 

Q45. Consider two events A and B in an experiment. If P(A) = 0.24, P(B) = 0.17 and P(A ∩ 
B)=0.11, find (P(A|B) + P(B|A)). 

 

A. 1.80 B. 1.09 

C. 1.22 D. 1.18 

Q45. �� �/K� ?े䜂 .K  �0?� � A �0 B +0 =?�?0 �0े䜂। /=. P(A) = 0.24, P(B) = 0.17 �0 P(A ∩ B)=0.11 :K ,K 
(P(A|B) + P(B|A)) �? ??0 =0�?ले䜂। 

 

A. 1.80 B. 1.09 

C. 1.22 D. 1.18 

 

Q46. 20% more than Rs.150 = Rs. _________ . 
 

A. 180 B. 190 

C. 200 D. 210 

Q46. 150 y+/O 9O 20% 
=/� = _________ y+/O 
 

A. 180 B. 190 

C. 200 D. 210 

 

Q47. Ramu bought a television for Rs. 21,950 and sold it at a loss of Rs. 2,580. Find the selling 
price of the television? 

 

A. Rs. 20,680 B. Rs. 19,370 

C. Rs. 18,540 D. Rs. 16,560 

Q47. 0??K 0O 21,950 y+/O ?े䜂 �� �I?I ?0I.? �0 �9O 2,580 y+/O �O  0J�9?0 +0 -O� =./?। �I?I �? =?्䵅/ ?Kल㉍/ =�,0? -?? 
 

A. 20,680 y+0O B. 19,370 y+0O 

C. 18,540 y+0O D. 16,560 y+0O 
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Q48. The ________ electrode in an electrolytic cell is called the cathode. 
 

A. negative B. positive 

C. neutral D. semi-positive 

Q48. �� �लO]रKल?�=�� 9Oल ?े䜂 ________ �लO]रK) �K �P -K) �:? �?,? :P। 
 

A. }(?O9�= B. +I_�9�= 

C. m0रूल D. @O/I-+I_�9�= 

 

Q49. ________ and ketones are the most important carbonyl compounds. 
 

A. Aldehydes B. Alkynes 

C. Alcohols D. Esters 

Q49. ________ �0 �O �Ko9 9-9O ?:त⑍?+K+क �?-K=0ल /L=�� :ै䠂। 
 

A. �ल㉍!IA?�! B. 
ल㉍�?�( 

C. 
ल㉍�KAल D. �}�1 
 

Q50. The process of copying genetic information from one strand of the DNA into RNA is 
called _____________. 

 

A. Transmutation B. Translation 

C. Transcription D. Transference 

Q50. RNA ?े䜂 DNA �ी �� ल=I 9O �0J?�=?� �?0�?0I �ी 0कᔼल �00O �ी �=्䵅/? �K _____________ �:? �?,? :P। 
 

A. z+?�$1 B. 
(I=?& 

C. �}$शल=+ D. }%?(?�$1# 

 

Q51. In case of suddenly applied load on any body, what will be the shape of stress strain 
curve? 

 

A. Triangle B. Rectangle 

C. Square D. Parallelogram 
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Q51. =�9I ?},J +0 
�?0� .?0 ल�0O �ी 
?}-? ?े䜂 ,0??-=?��?? ?्䵅 �? ��?0 �P 9? :K�? ? 
 

A. -्䵔�K# B. �0$ 

C. =?/ D. @/?(?�$1 ?$I.I/� 

 

Q52. Which type of beam is shown in the figure? 

 
 

A. Overhanging Beam B. Simply supported Beam 

C. Cantilever Beam D. Continuous Beam 

Q52. .I �/I ��L =, ?े䜂 =�9 ��?0 �ी -I? �K =.??/? �/? :P ? 

 
 

A. �=1Aै䠂�?�? -I/ B. श@म⹍+लI @+K�े! -I/ 

C. �े䜂 9�लI=1 -I/ D. �� �Im0ू
@ -I/ 

 

Q53. Which part of nestler boiler is used to drain out water? 
 

A. Stop valve B. Fusible plug 

C. Blow off cock D. Pressure gauge 

Q53. 0O}�ल0 -?/ल0 �O  =�9 .?� �? �+/K� +?0I �K -?:0 =0�?ल0O �O  =ल� =�/? �?,? :P? 
 

A. }�I+ =?ल㉍= B. M0_ू�-ल oल? 

C. mलK �, �I� D. �O?1 ?O� 
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Q54. If pressure is measured relative to absolute zero, it is called_______ pressure. 
 

A. atmospheric B. absolute 

C. gauge D. vacuum 

Q54. /=. .-?? �K +0? ?Ko/ �O  9?+O� ??+? �?,? :P, ,K �9O _______ .-?? �:? �?,? :P | 
 

A. =?0I/�!लI0 B. �m@Kल㉍0�ू 

C. ?O� D. =]ॅ0ू/ 

 

Q55. Which type of crystal structure has a coordination number of twelve and contains 4 atoms 
per unit cell? 

 

A. Body-centered cubic (bcc) B. Face-centered cubic (fcc) 

C. Hexagonal closest packed (hcp) D. Simple cubic 

Q55. =�9 ��?0 �ी =्䵅}�ल 9�0�0? ?े䜂 -?0: �ी 9?o?/ 9�_/? :K,I :P �0 �9?े䜂 4 +0??+J �=, ��?� �K=?�? :K,I :P? 
 

A. -I!I-@े䜂�!/ ]0-ू-� (bcc) B. ,O @-@े䜂�!/ ]0-ू-� (fcc) 

C. AO]@I?(ल ]लK@O}� +ॅ]! (hcp) D. श@�+ल ]0-ू-� 

 

Q56. What type of vibrations is the body undergoing when the particles get alternately twisted 
and untwisted? 

 

A. Transverse B. Longitudinal 

C. Torsional D. Hydraulic 

Q56. �+K �O  ?P�=ल㉍+� z+ 9O ?J=0O �0 9Jल�0O +0 =0�?/ =�9 ��?0 �O  �� +0 9O �J�0,? :P? 
 

A. 
(I�}% B. 
(I&P�0/ 

C. �I�?/(ल D. A?�्䵑Kशल� 

 

Q57. The flow in the pipe is _________ when Reynolds number is greater than 4000. 
 

A. progressive B. transitional 

C. laminar D. turbulent 
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Q57. �- 0O0Qल㉍)ट9 0�-0 4000 9O 
=/� :K,? :P ,- +?�+ ?े䜂 _____ �??: :K,? :P | 
 

A. �?}$?Iल B. @�्䵅/#�?लI( 

C. +#/&लI0 D. 
=?=$ी 
 

Q58. Which amongst the following is NOT true for Reaction turbine? 
 

A. In reaction turbine water flow is in tangential 

direction to the turbine wheel. 

B. Reaction turbine needs medium and high 

discharge of water. 

C. Reaction turbine involves more maintenance 

work. 

D. Reaction turbine operates at low and medium 

heads. 

Q58. =0म⹍0 ?े䜂 9O �L09? �-0 र0�]?0 �0-?�0 �O  =ल� 9त⑍/ 0:ी䀂 :P ? 
 

A. 91�]?( �1-?�( /े䜂 �ल �? �=?A �1-?�( ?्䵅 �O  }+?/1O�? 
�I 9&?? /े䜂 AK$? AP| 

B. 91�]?( �1-?�( �K �ल �? /�0/ = �चᩍ? }?= ??9A� 

AK$? AP| 

C. 91�]?( �1-?�( /े䜂 जᱍ0?&? 1�-1�?= �?0/ AK$? AP| D. 91�]?( �1-?�( }(म⹍( = /�0/ श@1O +1 �?0/ �1$I AP| 
 

Q59. Which type of lubricant will you use when you need lubrication to wick into a small 
space, without having to take anything apart? 

 

A. Dry Lubricants B. Penetrating Lubricants 

C. Grease D. Oil 

Q59. =-0? =�9I .?� �K 
ल� =�� �+ =�9I �K�I ��: ?े䜂 +लI,? �O  =ल� �+}0O:0 �00O �O  =ल� �+ =�9 ��?0 �O  }0O:� �? �+/K� 
�0े䜂�O 

 

A. ?I�� }(OA� B. $Iቌ䲚# }(OA� 

C. ्䵇Iज D. $Oल 

 

Q60. In which of the following heat is transferred in the form of waves? 
 

A. Convection B. Conduction 

C. Evaporation D. Radiation 
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Q60. =0म⹍0 ?े䜂 9O =�9?े䜂 ��?? ,0��K �O  z+ ?े䜂 }-?0?�,र0, :K,I :P ? 
 

A. @�=A( B. @�=?A( 

C. =?�+I�1# D. ==}�1# 

 

Q61. Cast iron which contains carbon in free form is known as ____________. 
 

A. Alloy Cast Iron B. Gray Cast Iron 

C. Nodular Cast Iron D. Malleable Cast Iron 

Q61. �?-क0 ??लO �?}� �/00 �K ?J्䴹 9�z+ ?े䜂 ______ �:? �?,? :P | 
 

A. श/्䵦'?$I �?}� �01( B. }लO�I �?}� �01( 

C. ??� &?1 �?}� �01( D. ल?Iल? �?}� �01( 

 

Q62. Which amongst the following is the correct dimensional formula of radius of gyration? 
 

A. M1L1T1 B. M0L1T0 

C. M2L1 T2 D. M1 L1T2 

Q62. =0म⹍0 ?े䜂 �L0 +र0्䵝?+ =}जᱍ/? �? �=�, =??,I/ 9K} :P ? 
 

A. M1L1T1 B. M0L1T0 

C. M2L1 T2 D. M1 L1T2 

 

Q63. 

 
The equation shown is the elastic section modulus for which cross sectional shape? 

 

A. C- channel B. Rectangle 

C. Rectangular hollow section D. Diamond 
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Q63. 

 
=./? �/? 9?I�0+ लK�.?0 
0J.?� ??+?�� =�9 
0J.?�I/ ��?0 �O  =ल� :P? 

 

A. C- ?P(ल B. �0$ 

C. �0$?�?1 �K�ल? 
(I.?? D. !?0/�! 
 

Q64. Which type of springs are composed of flat bars of varying lengths clamped together so as 
to obtain greater efficiency? 

 

A. Coiled Springs B. Leaf Springs 

C. Helical Springs D. Spiral Springs 

Q64. =�9 ��?0 �O  =}��_9 
ल�-
ल� ल�-?� �ी 9+?� +रि/K 9O -0O :K,O :ै䠂, =�o:O �9 ��?0 9O 9?- ?े䜂 ��=? �?,? :P =� 
=/� 

�?/क�?,? �?्䵎 �ी �? 9�O ? 
 

A. =�ृ$ _}��? B. +्䵈I _}��? 

C. �I� !शल$ _}��? D. @=+/ल _}��? 

 

Q65. Which amongst the following is a thermo set plastic? 
 

A. Acrylic B. Nylon 

C. Epoxy D. Teflon 

Q65. =0म⹍0 ?े䜂 9O �L0 ,?+ o](-?K9O�) oल?=}�� :P ? 
 

A. �्䵅O शल� B. (?0लI( 

C. �+K]@I D. �Oफ़लK( 

 

Q66. Which amongst the following is NOT the property of asbestos? 
 

A. Asbestos are insoluble in water. B. Asbestos fibers have detectible odor or taste. 

C. Asbestos are all solids that do not move 

through soil. 

D. Asbestos color will vary according to type, and 

metallic composition. 
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Q66. =0म⹍0 ?े䜂 9O �L0 
.:(�}-O�9) �? �J+}?.?? 0:ी䀂 :P ? 
 

A. 
&A(�}-O�@) +?(I /े䜂 
�Iल(?Iल AK$O Aै䠂। B. 
&A(�}-O�@) �O  1O?ो䬂 /े䜂 +$? ल?(O 0K_0 ?�' 0? }=?& AK$? 
AP | 

C. 
&A(�}-O�@) =K  K@ =}$I AK$O Aै䠂 �K श/टὍ�I /े䜂 @O (AI� 
?ल$O Aै䠂| 

D. 
&A(�}-O�@) �? 1�? }�}/ = '?$I @�1?(? �O  
(I@?1 

ल?-
ल? AK @�$? AP| 

 

Q67. Flow through a pipeline of constant diameter at constant time is an example of 
_________. 

 

A. Unsteady and non-uniform flow B. Steady and Non-Uniform Flow 

C. Unsteady and Uniform Flow D. Steady and Uniform Flow 

Q67. 
+र0?,क0?Iल }/?9 �O  +?�+ ल?�0 �O  ??o/? 9O =0/, 9?/ +0 :K0O ??ल? �??: _____ �.:?0+ :K,? :P| 
 

A. 
_}%1 = 
@/?( �=?A B. _}%1 = 
@/?( �=?A 

C. 
_}%1 = @/?( �=?A D. _}%1 = @/?( �=?A 
 

Q68. Which type of gear is shown in the figure? 

 
 

A. Bevel Gear B. Herringbone Gear 

C. Helical Gear D. Spur Gear 

Q68. .I �/I ��L =, ?े䜂 =�9 ��?0 �O  =�/0 �K .??क/? �/? :P ? 

 
 

A. -O=ल �?01 B. AO91/m?-K( �?01 

C. AOशल�ल �?01 D. }+1 �?01 
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Q69. The ratio of compressive stress to compressive strain is known as _________. 
 

A. Poisson's Ratio B. Young's Modulus 

C. Bulk Modulus D. Shear Modulus 

Q69. 9�+I)ट/ ,0?? �O  9�+I)ट/ =?��?? 9O 
0J+?, �K _______ �:,O :ै䠂| 
 

A. o=?@ो䬂 �? 
(I+?$ B. 0�? �? /?+?�� 

C. -ल㉍� /?+?�� D. श?01 /?+?�� 

 

Q70. _______ is a heat treatment process in which steel or iron is heated to a temperature, 
below the melting point. 

 

A. Tempering B. Normalizing 

C. Annealing D. Carburization 

Q70. _______ ��?? �+�?0 �ी �=्䵅/? :K,I :P =�9?े䜂 �}+?, ? लK:O �K �9 ,?+??0 ,� �0? =�/? �?,? :P �K �ल0?�� 9O �? :K,? :P 
| 

 

A. ==ल0( B. @?/?m0I�1# 

C. $?+?(I?Iल( D. �?-I/1# 

 

Q71. What happens in the power stroke of a four stroke cycle engine? 
 

A. Air-fuel mixture is introduced to fill the 

combustion chamber. 

B. Spent gases are expelled from the combustion 

chamber and released to the atmosphere. 

C. Hot expanding gases force the piston head 

away from the cylinder head. 

D. The trapped air-fuel mixture is compressed 

inside the cylinder. 

Q71. �,J ?क, �्䵅 ??लO ���0 �O  ?=्䴹  ?, ?े䜂 ]/? :K,? :P ? 
 

A. &A( �� �K .1(O �O  शल� A=?-ࠂई'( �? श/्䵦# !?ल? �?$? 
AP | 

B. }00 �I ?0I ?P@ो䬂 �K &A( �� @O -?A1 }(�?ल? �?$? AP = 

=?$?=1# /े䜂 �K) 9&0? �?$? AP | 

C. ?// ==}$?1?Iल ?P@ =+}�( �O  श@1O �K श@ले䜂!1 �O  श@1O @O 
&1ू �1(O �O  शल� -ल ल??$I AP | 

D. 
��O  AI� A=?-ࠂई'( �O  श/्䵦# �K श@ले䜂!1 �O  .I$1 @�+I))$ 

}�0? �?$? AP | 
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Q72. What is the value of coefficient of fluctuation of speed (CS) for Automobile (normal 
speed)? 

 

A. 0.07 B. 0.2 

C. 0.1 D. 0.04 

Q72. ��K?K-?�ल �O  9???o/ �=, �O  =ल� �K�=फ,9I��� �, oल]�J/O?0 �, }+I)(CS) �? ??0 ]/? :K,? :P ? 
 

A. 0.07 B. 0.2 

C. 0.1 D. 0.04 

 

Q73. Which of the following statements is true about diesel engine? 
 

A. It has a fuel injector B. It has low compression ratio 

C. It is light in weight D. It burns fuel that has high volatility 

Q73. =0म⹍0 �-0K ?े䜂 9O �L09? �-0 )I�ल ���0 �O  =ल� 9त⑍/ :P ? 
 

A. �@/े䜂 M0लू ���O]�1 AK$? AP| B. �@�? @�+I)( 
(I+?$ }(म⹍( AK$? AP| 

C. 0A =�( /े䜂 Aल㉍�? AK$? AP| D. 0A �चᩍ? =?�+?Iल$? =?लO ࠂई'( �K �ल?$? AP| 
 

Q74. There are primarily four types of combustion chambers in spark ignition (SI) engines. 
Which one of them is also called overhead valve? 

 

A. T-head combustion chamber B. F-head combustion chamber 

C. L-head combustion chamber D. I-head combustion chamber 

Q74. }+?�क  �=_0?0 (SI) ���0K ?े䜂 ?J_/ z+ 9O �?0 ��?0 �O  .:0 �� :K,O :ै䠂।�0?े䜂 9O =�9O �?0:O) ??ल㉍? .I �:? �?,? :P? 
 

A. T-AO! &A( �� B. F-AO! &A( �� 

C. L-AO! &A( �� D. I-AO! &A( �� 

 

Q75. During the combustion process, what happens when the load is low on S.I engine and 
throttle is high? 

 

A. The pressure and temperature of the fuel is 

increased 

B. The air fuel ratio is diluted because of gas 

residue 

C. The heat transfer coefficient is increased D. The time required for propagation of flame 

through combustion space increases 
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Q75. .:0 �ी �=्䵅/? �O  9?/ �- S.I. ���0 +0 =0म⹍0 .?0 ? �चᩍ� त⑍?र0} :K,? :P, ,- ]/? :K,? :P? 
 

A. ࠂई'( �? &-?= = $?+/?( -? �?$? AP| B. A=?-ࠂई'( 
(I+?$ ?P@ 
=?O?ो䬂 �I =�A @O $(I�ृ$ AK �?$? 
AP| 

C. ��/? 
�$1# ?I#?�� -? �?$? AP| D. &A( }%ल @O AK(O =?लO जᱍ=?ल? �O  ,P ल?= /े䜂 ल?(O =?ल? @/0 

-? �?$? AP| 
 

Q76. Which of the following statement is true about super charged engines? 
 

A. It uses exhaust stream to generate power B. It is not directly connected with the engine 

C. It has a smog emission outlet D. It is suitable for high altitude 

Q76. =0म⹍0 ?े䜂 9O �L09? �-0 जᱍ/?.? ,?�, ??लO ���0 �O  -?0O ?े䜂 9त⑍/ :P? 
 

A. 0A ?_]$ �त⑍+m( �1(O �O  शल� }(�?@ �=?A �? �}$O/?ल 

�1$? AP| 
B. 0A ���( @O @I'O (AI� �I)? AK$? AP | 

C. �@/े䜂 'I�' �त⑍@�/( -9Aद♍/=?1 AK$? AP | D. 0A �? ?O }%?(ो䬂 �O  शल� �+0I]$ AK$? AP | 
 

Q77. Which of the following engines require an external motor to start? 
 

A. Ramjet engines B. Turbofan engines 

C. Turbojet engines D. Rocket engines 

Q77. =0म⹍0 ?े䜂 9O =�9 ���0 �K �?लK �00O �O  =ल� -?:0I ?K�0 �ी �?�/�,? :K,I :P? 
 

A. 1P/�O� ���( B. �-ो,P ( ���( 

C. �-ो�O� ���( D. 1I�O � ���( 

 

Q78. The release of harmful chemicals by S.I engines impacts human life and environments. 
However, which of the following adverse effect is NOT caused by the S.I engines? 

 

A. Soil pollution B. Air pollution 

C. Water pollution D. Global Warming 
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Q78. S.I. ���0 �?0? �K=O �� :?=0�?0� 09?/0 ??0?I/ �I?0 ? ??,??0+ +0 �.?? )?ल,O :ै䠂|=0म⹍0=ल=?, ?े䜂 9O �L0 9? �=,�K ल �.?? 

S.I. ���0K �O  �?0+ 0:ी䀂 :K,? :P? 
 

A. /&ृ? �&I?# B. =?0I �&I?# 

C. �ल �&I?# D. _लK-ल =Iश/ि㼂? 

 

Q79. The process of mixing the vapor of a flammable hydrocarbon with air to form an 
explosive mixture, especially for use in an internal-combustion engine, is called: 

 

A. Ignition B. Carburetion 

C. Propulsion D. Detonation 

Q79. =??O} z+ 9O 
�,�.:0 ���0 ?े䜂 �+/K� ?े䜂 =ल� �?0O ??लO =?},K�� =?्䵦+ �K -0?0O �O  =ल� जᱍ?ल0?Iल :?�्䵑K�?-क0 �ी .?+ �K :?? 
9O =?=्䵦, �00O �ी �=्䵅/? �K _____ �:,O :P| 

 

A. �जᱍ=ल( B. �?-I/1O?( 

C. �#K&( D. �},K�( 

 

Q80. What is a stator? 
 

A. It takes input from two sources, field current 

supply and battery voltage input. 

B. It carries out diode rectification. 

C. It is a set of coils fixed to the shell of the 

alternator. 

D. It helps to generate and orient magnetic fields. 

Q80. =}-0?�� ]/? :K,? :P ? 
 

A. 0A &K }K$ो䬂 �O्䵔I0 �1�� �+}ू$/ = -P�1I =Kल㉍�O� �(+I� @O 
�(+I� लO$? AP| 

B. 0A !?0K! @�@K'( �? =A( �1$? AP| 

C. 0A �?}0ल �? @/ूA AK$? AP �K }� 
ल㉍�1(O�1 �O  �Kल @O 
�I)? AK$? AP| 

D. 0A ?I�-�I0 �O्䵔ो䬂 �K �त⑍+m( �1(O �1 �m/I� �1(O /े䜂 /&& 
�1$? AP| 

 

Q81. What is an automobile safety system that allows the wheels of the vehicle to maintain 
contact with the road surface called? 

 

A. Electronic stability control B. Collision warning system 

C. Anti-lock breaking system D. Blind spot detector 
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Q81. ?: ��K?K-?�ल 9J0�? �+?लI ]/? :P �K ??:0 �O  +=:/K �K �?I0 �ी 9,: 9O 9�+�क  -0?/O 0?0O �K =0/, �0,I :P? 
 

A. �लO]रI}(� }�O--शल�I �� रKल B. �K_ल㉍ल�( =I}(ि㼂? श@}�/ 

C. ���I-लI� }O}�� ? श@}�/ D. mल?��! }+I� )!�O]�1 
 

Q82. What can you measure with the help of a hygrometer? 
 

A. Relative humidity B. Dew Point Temperature 

C. Latent heat D. Total enthalpy of air 

Q82. �9क,???+I �ी 9:?/,? 9O �+ =�9O ??+ 9�,O :P ? 
 

A. @?+O्䵌�� �ቖ嚚/$? B. �@?�� $?+/?( 

C. 
m$}(/9A$ ��/? D. A=? �I �I ल $?+I0 '?91$? 
 

Q83. Which of the following statement is true about conventional chassis frames? 
 

A. There is no frame and all the assemblies of 

conventional chassis is attached to the body. 

B. It is cheaper and economical in comparison to 

integral frames. 

C. The conventional frame is also known as Non-

load carrying frame. 

D. In conventional frames, half of the frame is 

fixed in the front end. 
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Q84. The body of which vehicle has two boxes, a separate engine area, and passenger area? 
 

A. Hatchback B. Sport Utility Vehicle 

C. Van D. Sedan 
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Q85. What is the other name for Dog clutch? 
 

A. Cone clutch B. Single plate clutch 

C. Diaphragm clutch D. Positive clutch 
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Q86. Several modes of operating a vehicle are available during automatic transmission. The 
transmission system can be locked in which of these modes? 

 

A. Reverse B. Park 

C. Neutral D. Low 
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Q87. What is the purpose of drive shaft yokes in a cross and roller universal joint? 
 

A. Fit the snap rings B. Hold the bearing caps 

C. Hold the cross D. Fit the roller bearings 
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Q88. Which of the following is an example of rear axle? 
 

A. Elliot B. Lamoine 

C. Full floating D. Dead axle 
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Q89. Which of the following is true about angle  for Davis steering gear? 
 

A. It should lie between 11.3o to 14.1o B. It is 10o 

C. It is 15o D. It has 3 different values 
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Q90. The difference in angles between the two front wheels and the car frame during turns is 
called: 

 

A. Camber angle B. Caster angle 

C. King Pin inclination D. Toe-In 
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